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QUESTION 1

Which tool should an architect use to research the technical specifications of various Smart Array controllers? 

A. HPE Product Bulletin 

B. SalesBuilder for Windows 

C. ProposalWeb 

D. HPE iQuote 

Correct Answer: A 

 

QUESTION 2

Select all that apply. 

Drag each HPE Proliant rack server profile on the left to the matching description in the right. 

Select and Place: 

Correct Answer: 
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QUESTION 3

Which components are typically redundant in a tower server? (Select two.) 

A. processors 

B. fans 

C. management modules 

D. voltage regulator modules 

E. power supplies 

Correct Answer: BE 

 

QUESTION 4

A solutions architect is designing an HPE ProLiant BladeSystem and HPE StoreVirtual storage solution for a customer,
and needs to estimate power requirements. 

Which HPE tool should the architect use? 

A. HPE Insight Management Sizer 

B. HPE OneView 

C. HPE Power Advisor 

D. HPE Power Discovery Services 

Correct Answer: C 

 

QUESTION 5

What are three benefits of the RESTful Interface Tool for enabling the new style of IT? (Select three.) 

A. reduced issue resolution time 

B. increased high availability 

C. easy customization 

D. simplified scripting 

E. lower facilities costs 

F. reduced deployment complexity 

Correct Answer: CDE 
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